DW6. NO SIZE|REV. [ SH
8 7 6 5 * 4 3 \ 2501844 |1 | 1 \ 1
ITEM PART NO REQD DESCRIPTION MATERIAL
19 250192 | Longeron Assy Fixture Sleeve Holder Al 6061-T6
18 250191 | Longeron Assy Fixture Riser for Sleeve and Strut End Al 6061-T6
RISER MOUNTING SCREWS AND DOWELS ONLY 17 250189 | Longeron Assy Fixture Riser for Forward Attachment Al 6061-T6
16 250188 | Longeron Assy Fixture Riser for Strut Longeron Brace Al 6061-T6
15 250187 | Longeron Assy Fixture Riser for Middle Attachment Al 6061-T6
= 14 250186 | Longeron Assy Fixture Riser for End Aftachment Al 6061-T6
3 ° 13 250185 | Longeron Support Assy Fixture Baseplate Al 6061-T6
[~ 00 o0 °0 90 8 °0 0° 12 250155 | Beampipe Support Longeron Assembly

i I 10 Socket Head Cap Screw M8-1 by 30MM LG Steel

10 | Socket Head Cap Screw M6-1 by [6MM LG Steel

9 20 Socket Head Cap Screw M4-.T7 by [OMM Long Steel

8 | SHCS M6 byl Steel

7 | Flat Washer M6 Steel

6 2 Dowel Pin &MM DIA x 10MM LG Steel

5 10 Dowel Pin 6NM DIA x 20MM LG Steel

4 2 Dowel Pin 3MM DIA x 6MM LG Steel

3 5 Dowel Pin 3MM DIA x 10MM LG Steel

LONGERON ASSEMBLY SHOWN [N PLACE: SEE SHEET TWO FOR PROCESS NOTES 2 5 Destaco 201U Vertical Handle Clamp
| 5 De Staco Stock Plunger for Vertical Clamp 201-U

SCALE 0.200

SEE DETAIL A

UNLESS OTHERWISE SPECIFIED | SHOP ORDERS |i' - ERNEST ORLANDO LAWRENCE
gluxeol  [rme & et [T dh |l - BERKELEY NATIONAL LABORATORY Z=£££fl ﬂ
/ [ X0E 0,01 | Angles & 0.50° |55 € Anderssen we - UNIVERSITY OF CALIFORNIA - BERKELEY
S— S Kk £ 0.001 [FINISK 135/, | SHERAE ATLAS PIXEL DETECTOR
DO NOT SCALE PRINT [y Tho BEAM PIPE AND SERVICES SUPPORT
THREADS AR CLASS 2 RRRaEeT . Beampipe Longeron Support Assembly Fixture |
CHINFER ENOS OF ALL SCREW TREADS 30° PROJECT NICROF ILNED: . TV e 0.200 50 NOT |4
DETA ‘ L A CUT ROUND, 1.5 THREAD RELIEF ON MACHINED THREADS EQEED Uken WE 05-Sep-03 ASSEM SHOWN ON SHEET 1 c)":wéE s
SCALE [.000 BREAK EDGES 016 NAX. O WACHINED VORK Bt
' RENOVE BURRS, VELD SPLATIER & LOMSE SCALE S9N Har fman DATE PATENT CLEAR: | DESIGH ACCT. No. | CATEGORY CODE | DWG. NO SIZE[ REV
' 2501844 | 1
REV|DWG|CHK |Z0NE| DATE CHANGES I ACCORDANCE ITH ASME V14,59 8 846.1 AR Anderssen e AP1000

A e g 21 Y11 70 A

4 | 3 2 1




